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1.

Answer A

e UPI 123PAY is designed for feature phone
users, enabling them to perform digital
transactions without an internet connection.

e [t includes IVR-based payments, missed call
payments, and app-based functionality for
feature phones.

Answer A

e Iron plays a crucial role in absorbing and
scattering radiation inside the Sun.

e Iron in the Sun comes from nucleosynthesis in
ancient supernovae.

e The new findings about iron’s opacity affect
our understanding of solar temperature and
energy transport.

Answer B

e The theme of the 38th National Games is
“Green Games.” (Statement 1 is not correct).

e Yoga and Mallakhamb have been included in
the National Games for the first time.
(Statement 2 is correct).

e The medals and certificates for the athletes
will be made from environmentally friendly
and biodegradable materials. (Statement 3 is
correct).

Answer C

e The Programme is implemented by the
Ministry of Petroleum & Natural Gas.
(Statement 1 is not correct).

e The programme aims to achieve the target of
20% blending of Ethanol with petrol by 2025
previously the target year was 2030.
(Statement 2 is correct)

e This programme has been extended to the
whole of India except the Union Territories of
Andaman Nicobar and Lakshadweep islands.
(Statement 3 is not correct).
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Answer B

e It is a nationwide household survey released
by the NGO Pratham Foundation that captures
the status of children's enrollment and learning
outcomes in rural India every year since 2005.
(Statement 1 is not correct).

e The report measures the schooling status of
children aged 3-16 years and tests the learning
levels of children aged 5-16 years. (Statement
2 is correct).

e The states of Kerala, Himachal Pradesh, and
Punjab are considered top-performing in
learning outcomes. (Statement 3 is correct).

Answer C

e Namdapha National Park is India’s
easternmost tiger reserve and National park
situated in the Changlang district of Arunachal
Pradesh. (Statement 1 is correct)

e The Namdapha protected area is wedged
between Dapha Bum ridge of Mishmi Hills, of
North Eastern Himalayas and Patkai Ranges.

e The reserve has a common boundary with
Kamlang Wildlife Sanctuary (Lohit District).
(Statement 2 is not correct).

e It is the only National Park in the world to
have all four big cat species—Tiger, Leopard,
Snow Leopard, and Clouded Leopard.
(Statement 3 is correct)

Answer C

e Statement 1 is Incorrect: The Ratnagiri
Buddhist site, located in the Ratnagiri, Jajpur
district of Odisha. Where else Ratnagiri is a
district in southern Maharashtra.

e Statement 2 is Correct: The site stands on a
hill between Birupa and Brahmani rivers.

e Statement 3 is correct: Mahayana and
Tantrayana (also known as Vajrayana that
involves mystical practices and concepts)
sects of Buddhism originated.

e Statement 4 is correct: Ratnagiri, known as the
'Hills of Jewels,' is a significant component of
the renowned Diamond Triangle of Odisha,
which also includes Udaygiri and Lalitgiri.
This historical site was first recorded in 1905.
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8. Answer B

e Statement 1 is incorrect: POSHAN Abhiyaan
is a initiative aims to tackle malnutrition
issues nationwide through the implementation
of  Information and Communications
Technology (ICT) applications.

e Statement 2 is incorrect: Sukanya Samriddhi
Scheme initiative is part of the Beti Bachao,
Beti Padhao campaign, which encourages
parents to establish a fund for their female
child's future education and marriage
expenses.

e Statement 3 is correct: Scheme for Adolescent
Girls (SAG) program focuses on providing
nutritional support to out-of-school girls aged
11 to 14 years to enhance their health and
nutritional well-being.

e Statement 4 is incorrect: Beti Bachao Beti
Padhao (BBBP) To address declining Child
Sex Ratio (CSR) and related issues of
empowerment of girls & women over a life
cycle continuum.

Answer A

e Blue Carbon: - It pertains to the carbon sinks
found in coastal, aquatic, and marine
environments, which are sustained by
vegetation, marine life, and sediments.

e C(Coastal ecosystems such as mangroves, tidal
marshes, and seagrass meadows serve as
substantial reservoirs of carbon, accumulated
through vegetation and various natural
processes over long periods.

e These ecosystems are capable of sequestering
and storing carbon—commonly known as
'blue carbon—at a rate that often surpasses
that of terrestrial forests when measured per
unit area.

10. Answer A

e Statement 1 is Correct: - The Arkavati is an
important mountain river in Karnataka, India,
originating at Nandi Hills of Chikkaballapura
district. It is a tributary of the Kaveri.

e Statement 2 is Incorrect: - Arkavathi River
flows through only one state, Karnataka.

e Statement 3 is Incorrect: - It is a significant
tributary of kaveri river.
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e Statement 4 is Incorrect: - Prakasam Barrage
is a Road Bridge built across Krishna River.
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11. Answer C
e The Telecommunications Act, 2023
introduces significant reforms. The Act

expands the definition of public entities to
include government agencies, local bodies,
and public-private partnership (PPP) projects,
which helps clarify the regulatory framework
and improve infrastructure development.
Hence, statement 1 is correct.

e [t grants the government the authority to stop
the transmission of any message in the interest

of public safety and during a public
emergency, thereby enhancing national
security measures and enabling timely

government intervention in critical situations.
Hence, statement 2 is correct.

e Also, the Universal Service Obligation Fund
(USOF) will be rebranded as Digital Bharat
Nidhi under this Act, signifying a broader
focus that not only supports telecom services
in rural areas but also allocates funds for
research and development initiatives. Hence,
statement 3 is correct.

12. Answer B

SANJAY:

It is an automated system which integrates the
inputs from all ground and aerial battlefield
sensors, processing them to confirm their veracity,
preventing duplication and fusing them to produce
a Common Surveillance Picture of the battlefield
over secured Army Data Network & Satellite
Communication Network.

13. Answer C

e GSLV-F15 NVS-02 mission is the 100th
launch from the Satish Dhawan Space Centre
in Sriharikota, scheduled for January 29.
(Statement 1 is correct)

e The GSLV-F15 will place NVS-02 (not NVS-
ol) satellite into a Geosynchronous Transfer
Orbit (GTO). (Statement 2 is not correct)

e The key objectives : Terrestrial, aerial, and
maritime navigation, Precision agriculture,
Geodetic  surveying, Fleet management,
Location-based services in mobile devices,
Orbit determination for satellites, Internet-of-
Things (IoT) based applications.(Statement 3
is correct)
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14. Answer D 14. 3T D

PM Surya Ghar Muft Bijlee Yojana

e PM Surya Ghar Muft Bijlee Yojana is a
Central Sector Scheme that aims to provide
free electricity to one crore households in
India.(Statement 1 is correct)

e With a focus of installing rooftop solar plants
in one crore households, enabling free
electricity of up to 300 units per month the
PM Surya Ghar Muft Bijli Yojana is
considered the world’s largest residential
rooftop solar initiative.(Statement 2 s
correct).

. Answer C

e JIMB is a spectacular ensemble featuring over
5,000+ artists performing more than 50 folk
and tribal dance forms at the Republic Day
Parade 2025. (Statement 1 is correct.)

e The Ministry of Culture is the Nodal Ministry.
(Statement 2 is not correct.)

o The Themes of Jayati Jai Mamah Bharatam
are Viksit Bharat, Virasat bhi Vikas bhi and
Ek Bharat Shreshtha Bharat. (Statement 3 is
correct.)

16. Answer B

e Leprosy also known as Hansen’s Disease is a
neglected tropical disease that primarily
affects the nervous system of the Individual.
(Statement 1 is correct)

e Leprosy is curable also it is not so contagious,
but repeated contact with nose and mouth
droplets from someone with untreated leprosy
can spread. (Statement 2 is not correct)

e The theme for World Leprosy Day, 2025 is
'Unite, Act, and Eliminate Leprosy'
(Statement 3 is not correct)

e In 2024 Jordan became the 1st country to be
verified and acknowledged by the WHO for
elimination of leprosy. (Statement 4 is correct)
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17. Answer: B. 1, 3 and 4 only 17. 34AX: B.W1,3GﬁT4
Explanation: WWUT:
Stagflation is the simultaneous occurrence of TEHIfd, 38%a (@4 faer 3R 3= SRISR]) 3R
stagnation (low growth and high unemployment) TERB I D UDh 1Y g aTall geT 2l
and inflation. 1. Sl vE 3 e (G A0 B A & @)
1. Supply-side shocks (like oil price hikes) reduce 3dEH & 9 I ¢ 3R Piaar & q@ FAE =
output and increase prices = contributes to Wﬁf A Te AT R
stagflation. 2. T TRF M IR W TR & Fu
2. Tight monetary policy usually reduces inflation Fdl T A o TR @Y off i e 3 B
b s o svni i o | et 4 s o oo e
cause of stagflation. , gﬂa@gﬁ? A Wﬂwﬁ :@3{ %I”
3. Rising unemployment is part of “stagnation” in 3. 9 . 5 3 PRI 2
stagflation. 4. YT I H gig %T ArTd-URd Wﬁ gl
4. Increase in indirect taxes can lead to cost-push m 3 (e Tl H ?1'@ & RO I Tl
inflation (prices rise due to increased production Rl
costs). 18. JTR; B. Had 1 3R 3

B

e e 50 8 1 1 e e
Statement 1: Correct. The Bill proposed by Lord Rt iRl w1 fSfew s W,w
Ripon allowed Indian judges to try British A B &fﬁ”ﬂﬁ a, forerd W T H oI
offenders, sparking outrage among the European Bt T
community. HYT 2: | INC Bt RITOAT 1885 H g8 off, 3R
Statement 2: Incorrect. The INC was founded in 7l g ot A Tl €D S IR by,
1885, and although the Ilbert Bill exposed racial <fT I8 INC & T3 T TG&f HRU g1 Ul
attitudes, it was not the direct reason for INC's HYF 3: Tgt| T HRGTA 7 1 URT fowam ofk 38
formation. oI SR & Yo IS0 & Fq H @l
Statement 3: Correct. It galvanized Indian opinion ST gl
and is seen as an early instance of political
awakening, 19. SR D. 1,2 3R 3

THIHL

19. Answer: D. 1,2 and 3 T (3rourTe): Tee dTet dgy, o uiel SR few
Explanation: égq T S &
Dibang (Arunachal): Clouded Ileopards, red ARTEE (A UCRN): T Hdyel doh d1Yy TR &1
pandas, and snow leopards found. few|
Nauradehi (Madhya Pradesh): Part of the tiger RSB HDT (TSN YaxaT & 918 GIRT Ty §ST
corridor from Panna to Satpura. g gifRIfdaT 3 iR 9N O & 9TREB] &
Bhitarkanika (Odisha): Second-largest mangrove INSIBISIGIE]
ecosystem after Sunderbans and known for
saltwater crocodiles.
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20. Answer: C.
Explanation:

20. 3T}: C.
WEIHRUT: HicH gUa 39 fdg B Gahld &l @
AT e SR THg F R AL PR Gebarl ©
(1t B paa T ARy w1 & oY) | 39 Wi & TeR

Quantum Supremacy refers to the point where a
quantum computer performs a computation that a
classical computer cannot accomplish in a

reasonable time (even if only for a specific task). FTaTaT Google ¥ 2019 H far |
This milestone was claimed by Google in 2019.

21. Answer: A. 21. 3T A
Explanation: TPIHI:

Statement 1: No official trilateral security pact
involving India, Saudi Arabia, and UAE focusing
on maritime security has been signed.

Statement 2: Correct. IMEEC was announced
during the G20 Summit 2023 in India, with India
as a key partner linking Middle East and Europe
through infrastructure.

Statement 3: Abraham Accords are between Israel,
UAE, and other Arab countries. India is not a

g FHY 1: YRA, TSl 3RT 3R JUS HI AMAT TR
| FU S W R AN B o aw e of
| oo ey gear SHEd o SER Tl oy
;| e

E HYF 2: TG §1 IMEEC F 91NN YR & G20 &R
2| e 2023 & ERE @ T ff, o yRd g
3| R % Hem I Hw qd R IRY &Y S a1 U
E T yfier ol

party or observer in this initiative.

FHY 3: ISTEH THINAT IoRIT, JUS 3R 3= 3R
3 & 9 §1 YRd 39 Usd | $is U 1 Wded
B

22. Answer : c -
The Thar Desert encompasses the Indian states of G
Rajasthan, Gujarat, Punjab, and Haryana

. 3R ¢
gRaTn Bl M HRaT g

23. Answer:c
Bridge Inventory and Condition Rating System
(BICRS)
BICRS is a ranking mechanism to rate NHAI’s
infrastructure assets to determine their structural
safety and look for remedial measures for their
upkeep and regular monitoring.
Launched by — National Highways Authority of
India (NHAI).

. 3Tk ¢
foT 30t TS FHaimH I Red (BICRS)

BICRS NHAI P! 3{g¥aT URIURE &1 IF!
WTESG JRem FufRa v 3R 3% @R
R fafg ARt & o SeRes Ut &t
AT B P 7T Tas 3T A 5|

GRT AT a1 a1 - A% g1 ruiRel 3if Sfgar
(NHAI) |
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24. Answer : a 24, 31X a
Household debt in India refers to the total amount URA § R B [afie faxiia d=um= iR aRari gr1
of debt owed by households to various financial U U 01 B Pd R B Yeffd HRAT B

institutions.

It is measured as a percentage of GDP (Gross
Domestic  Product), representing the total
borrowings of households relative to the size of
the economy.

Components of household debt

Unsecured loans — Personal loans, credit cards,
consumer durables

Secured loans — Housing, Gold and vehicle loans

U 9Hd W SdG (Sler) & ufa=d & ¥u o
AT ST @, S 3rfora®it & 3R F Jrier GRaR!
F A IUR HT Ufafifia HRar gl

TR B & UTh

SRRAET BN - G BT, HfSe HTS, IUHIET
P13, awqy

IRIEA H1 - SH1aT, AT SR aTe BT

Retail credit from NBFCs (Non-Banking Finance (Wm X QWW

Companies) and HFCs (Housing Finance H‘&q fas ?[ B .
Companics) Eicg a’e—qm A SRRy B SR JRdra Hur QA1
Loans from microfinance institutions RUEC] % RUSREREERSER] ] )
Since household debt includes both the unsecured HRT H IR H - HER & §1¢ BT srafy 7 gu
loans and secured loans, statement 2 is incorrect. eI IBTA ST %

Household debt in India — It has experienced a
dramatic surge in the post-pandemic period

2021 - 36.6% of GDP

2023 - 40.2% of GDP

2024 - 42.9% of GDP

Since Household debt in India is increasing in the

2021 - SIISIdY &7 36.6%

2023 - SIISIdt &7 40.2%

2024 - SIISIdY BT 42.9%

fe YRd § B B BTl $ I § wg @7 8, 3R
HYF 3 T B

recent years, statement 3 is incorrect. 25. 3tk :d .
g U §g-87 3R 9g-8310 Tadis § e
25. Answer : d IUANT U & 9T JHY A, v ok unfy

It is a multi-domain and multi-sectoral index that
is intended to be used to assess the overall holistic

BT 3MTHT R & forT fpar orar 21
UeR &1 AR - 396 MUR W, IH Y=rid! &l

development, performance & progress of UeRH &1 5 A F J v | BEECGAERIEIG g
Panchayats. 3rEaR (90+)

Categories of performance — Based on these, gram 3yult (75 9 90 | )

panchayats are grouped into one of the 5 TR H34 araT (60 ¥ 75 I 419)

categories of performance 3rapielt (40 T 60 T HR)

Achiever (90+) BT (40 I =)

Front runner (75 to below 90)

Performer (60 to below 75)

Aspirant (40 to below 60)

Beginners (below 40)

Gujarat led the index with 346 Gram Panchayat as
Front Runners, followed by Telangana with 270
Front Runners.

ORI = 346 UM UaRdl & 1Y Yadbie & qad
3T g XY R U o, I a1 AT A
270 The IR & 1Y GORT | U1 o
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26. Answer : ¢ 26. 3T :c

Jyotiba Phule was born on April 11, 1827, in
Pune, into the Mali caste, a backward community
traditionally engaged in gardening and floristry.
He founded Satyashodhak Samaj (Society of
Truth-Seekers) in 1873.

Jyotiba Phule was awarded the title “Mahatma”
for his innumerable social services and reforms.
Sarvajanik Dharma Pustak is a book published by
Jyotiba Phule in 1891.

. Answer C

e National Disposable Income is calculated by
adding Transfer Payments to National Income.
Hence, statement 1 is correct.

e Transfer Payments, such as welfare benefits
and pensions, are government-provided funds
that are not earned through production. Hence,
statement 2 is correct.

. Answer B

e Quantum computers do not use ternary logic
(0, 1, and 2); they operate on quantum
principles like superposition and entanglement
but still use binary states (0 and 1), though in
a quantum-mechanical way. Hence, Statement
1 is not correct.

e Quantum computers use qubits, which
leverage superposition to exist in both 0 and 1
states simultaneously. Hence, statement 2 is
correct.

29. Answer A

Species evenness: It measures the proportion of
species at a given site, e.g. low evenness indicates
that a few species dominate the site. Hence,
statement 3 is not correct.

30. Answer D

e A taxon is Critically Endangered when the
best available evidence indicates that it meets
any of the criteria for Critically Endangered.
criteria :

o reduction in population (> 90% over the
last 10 years),

o population size (number less than 50
mature individuals),

ST T & SFF 11 30, 1827 HT YOI H HATelt
Sfd § gom T, o U U1 9gar AT Sl URURSD
0 Y TEEFT 3R Bal &1 Al F T g4 Tl
3T 1873 T TARNYS TS (AI-TIUDI B
AT B RITYHT 1 |

SfaET T B ITH G- IS Jareff 3R
JURT & forw werer @1 Uiy ¥ g fean
T T

gaa-e o gxde 1891 B SAfdEl Hd gRI
TBIRId T& 2|

.3 C

o ST YUY 3T BT TUAT AP 31T H 3Rl
%ufmmshga?{, DI A g1 AT, HU 1 THY
|

o 3R YTAM, S FHeT0l A 3R UM, TRHR
SRI UM &t 5 FRaT § of Sded & e 9
3{foTd 8T &1 el § | S, o 2 el ¢

Rigidl W M #Ra ¢ AR R o S
RT3t (0 3R 1) BT IUANT B @, gradif
ﬁﬁg-ﬁ%ﬁﬁﬂ%@gﬁ%@&? YT 1 gt
TeI Bl

o TicH IR FfIT HT IUTNT I &, o 0 3R
1aﬁa+awaﬁﬁtr$muﬁqaﬁﬁ Y
gqvgﬁrmamfﬂum% , BT 2
SEE

. QWA
Tofa IHeUdr: I8 fHa fou U wm R yenfoat &

3UTd 1 HIYT &, IT6R01 b f1Y H YT T8
T & & o wofadr Ase W gt 81
Y 3 7 TR

. 3D

T CRIM THR ¥ § v a4 8idl § 91d Juasy
JataH Wed I8 Yhd &d ¢ 5 g8 TR T U I
v & B ft arde B R e 71
o THES: SEEN # A (Uzd 10 auf &
90% I 3Hfd),
o SIS &1 3MHR (50 ¥ HH URUS afd),
o HEIES fawaNU S awidr ® 6 10 auf &

|
)

o quantitative  analysis showing the FH I HH 50% Yool & siret d faqe
probability of extinction in the wild in at REEIR D ICRIE
least 50% in their 10 years and o 3R TTRT AT SaT & B Shrelt & foreqeat
o it is therefore considered to be facing an Eﬂﬁﬁﬁﬂ'@ﬂa’ﬁﬁ 3 B
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31. Answer C

o The Thirty Meter Telescope (TMT) is being
installed at Mauna Kea in Hawaii to advance
the understanding of the universe. It is an
ambitious international project involving
India, the US, Canada, China and Japan.
Hence, statement 1 is correct.

e From India, TMT Center at Indian Institute of
Astrophysics (ITA) in Bengaluru is leading the
national collaboration. Hence, statement 2 is
correct.

32. Answer A

e Mehrauli Iron pillar: The iron pillar of Delhi is
a structure 7.21 meters (23 feet 8 inches) high
with a 41-centimeter (16 in) diameter that was
constructed by Chandragupta II (reigned c.
375-415 CE), and now stands in the Qutb
complex at Mehrauli in Delhi, India. Hence,
statement 1 is not correct.

e Prayag Prashasti: It is attributed to the 4th
century CE Gupta emperor Samudragupta,
and follows immediately below the edicts of
Ashoka. It is considered "the most important
historical document of the classical Gupta
age". Hence, statement 3 is not correct.

33. Answer C

e The Nasik and Naneghat inscriptions are the
primary sources for learning about the
Satavahana empire. Hence, statement 1 is
correct.

e Taxila copper plate or Moga inscription was
discovered in Taxila, Gandhara, modern
Pakistan. It contains information on Indo-
Scythian rulers. Hence, statement 2 is correct.

34. Answer D

Korkai was the port city of the early Pandyas
situated on the banks of the Thamirabarani near
Bay of Bengal.Hence, statement 1 is correct.
Poompuhar is a town in Mayiladuthurai district
(Tamil Nadu). It was once a flourishing ancient
port city known as Kaveri Poompattinam, which
for a while served as the capital of the early Chola
kings. Puhar is located near the mouth of the
Kaveri River, on the sea coast. Hence, statement 2
is correct.

The exact location of Muziris or Muchiri is still
not known to historians and archaeologists, but the
archaeological site of Pattanam, on the
southwestern coast in Kerala’s Ernakulam district,
is believed to be part of the ancient port city of the
Muziris. It was the major ancient port city of
Cheras. Hence, statement 3 is correct.

.3 C

o RIS B THY B AT FgH & oTT gaTE & WA
PIT | T Hex CURBIT (TMT) RITUd foean
O 36T 81 T8 HRd, 3MReT, Brer, 94 3R
S @ AT B gl Th AgdTdian
STRRIPIT URAISHT 31 SHIIT, HYUF 1 &1 3

e YR Y, ITgE H URdT T Hifde! TRM
(1A) & TMT g ST AT BT AJed R Vel
21 39T, HYH 2 IS B

. 3 A

o TR g WH: foweht &1 dig W 7.21 Hiex
(23 Bie 8 39) Fa1 3R 41 FAHR (16 39
T aTel U & § et fmtor e fgdta
(RAMGPBTS TTTHT 375-415 5.) 3 HIAT AT 3R
31§ U8 YR & feet § HeRich & PHgd URER o
Ry 31 3aferg, wuT 1 TE T ]I

o AT URIRT: 39 o Raledt 8. & W WHIe
I &1 A Ol §, 3R I8 3Ri% &
fRrarerat & die 2 31 S IR [ G BT
I8 Heayul Yfagiie gxamdst” AT o g
ERINUCE ER HE

. 3WRC

TRy 3R THUTe RIaeg Iraaed Jured & §R

§W$Wmﬂﬁ$@ﬁ%|m,$ﬁﬂ1ﬂiﬁ
|

TR daHud a1 9 R delen, TR,
SYFAH TIferd™ o Tl T 7| S0 S81-Wi

TR P IR A THGRT B 1 3T, HUT 2 T B

. WD
PRPBTE S DI Wl & U YIERERA! & de W

@H?%WWWWWIW,%W
1981 g
THYER HRATGYTE foret (o) 1 Ue TeR g
T8 Sl T T UTHIF §axiTe QeR oT ford Sk
QAUTSTH & A9 Y ST SI1dT T, S $© I8 & g
IR drd Iesil &) IS & T H HR Bl
7| GER BTN ¢ & GeM & I 5 dc IR ¥ud
HERNERIE PR HE!
mmgﬁﬁmmwaﬁmﬁm
3R ANl B JG TG 7, dAlbd IRA b
tigan fa # cfo-ufdf e ® ugm &1
RIS A, GRIRT & UdH dee A6 o
fexn @ oA g1 g8 R BT Ug U S
ER U1 MY, U 3 T 6
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35. Answer B
e Aryadeva was a Mahayana Buddhist monk, a
disciple of Nagarjuna and a Madhyamika
philosopher. Hence, statement 1 is not correct.
e Sri Ranganatha Muni, popularly known as
Sriman Nathamuni, was a Vaishnava
theologian who collected and compiled the
Nalayira Divya Prabandham, a collection of
4,000 Tamil verses dedicated to Lord Vishnu.

35. 3U¥ B

o 3T UF HemH dg Ny AT & R
3R e [efter qriffe 31 safie, wuT 1
SHEGE

o N TN g, % ofim m[ & 99 ¥ S
ST B, Ueb JWIg yHed] & R ToRR fesy
US§YH DI THHId 3R Jobfad fbar, S WaH
faw] &1 it 4,000 Affe Sl &1 AU g1 o

Hence, statement 2 is correct. PY 2 ﬂﬁf %|
e Sanghabhuti is the author of a commentary on o TUYf Halaare fa g W T &P & e 5
the Sarvastivada Vinaya. Hence, statement 3 3fd: B 3 TE! B
is correct.
36. 3R A
36. Answer A dg o &1 AerE Al o8 uRfAarst W Hfad §

e o IRMa Wt Fer ST 31 39y, By 2
BHERE

The Mahayana Path of Buddhism focuses upon
the Six Perfections also known as the Six
Paramitas. Hence, statement 2 is not correct.

37. Answer B 3.

e Burzahom: The Neolithic Site of Burzahom,
in the district of Srinagar, India brings to light
transitions in human habitation patterns from
Neolithic Period to Megalithic period to the
early Historic period. From transition in
architecture to development in tool-making
techniques to introduction and diffusion of
lentil in the north-western India, the site of
Burzahom is a unique comprehensive story
teller of life between 3000 BCE to 1000 BCE.
Hence, statement 1 is correct.

e Chandraketugarh: It is an archaeological site
located beside the Bidyadhari River, about 35
kilometres north-east of Kolkata in North 24
Parganas. Major findings of this site include
Buddhist stupas and images, decorative
designs belonging to Pala period, coins of
Gupta and Kushana period, different kinds of
beads, terracotta seals, bricks and plaques
depicting scenes from Jataka tales and
figurines of Sunga, Maurya, Kushana and
Gupta periods. Hence, statement 2 is correct.

e Ganeshwar: It is a village in Neem ka Thana
Tehsil in the Sikar district of Rajasthan.
Copper artefacts, objects, microliths and
pottery were found throughout the deposits.
Copper  objects included arrowheads,
spearheads, fish hooks, bangles and chisels.
Hence, statement 3 is correct.

IR B

Folg: YRd & MR o & goler| &1 AqummT
RId, AU BT U AHR TMARISG B U AR
RS AdeRie H1a a% dHa FHa Ted & gu
Jeamal & USRI § A1 §1 aRgee | gead o
ABHR UGV §AF DI -] & BN ¥ AP
FR-UlH YR B IR 31 <1 & uRT 3R TR
P, ToleIH BT TIT 3000 9T 4 ¥ 1000 9T J4 &
9 F SiaT @1 T Mgt AUS BT A 5
TR, HYU 1 TE1 B

AGh TG T8 S 24 THN T HIABA I THIHT
35 foraiier SWR-yd # fagnedt 7 & foR Rua
TP RIAS T 81 3T A B TH Tolt J sl
WU 3R fm, o a9 Ge6fdd omact e,
T 3R $U H1d & Rad, f[(Afs geR & Axd,
DI DI Ga, STAd YT & e DI g 3¢
3R ufgdTd SR Y, A1, HUN 3R [ HId Bt
it =nfEver 81 3/, HUT 2 T 5

TMURIR: I8 IoRIE & id? o # 19 &1 9
Tedd &1 U 7fa ¥1 R HSR § dia Bt derepiadr,
T, TR SR it F o g Ul a @)
gxgeft § R & RR, WIQ, 7aeh & g, gfear 3R
0 zmfdyer off

|
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38.

39.

40.

41.

Answer B

In the Gupta era, the terms Kulyavapa,
Dronavapa, and Adhavapa were related to land
measurements mainly mentioned in the copper
plate inscriptions that were found in Bengal.
Hence, statement 1 is not correct.

Answer C
e The National Song of India is “Vande
Mataram", written by Bankim Chandra
Chatterjee. Hence, statement 1 is correct.
o The song was first written in 1870 and
later included in his novel "Ananda" in
1882. Hence, statement 2 is correct.
o It was first sung at the 1896 Indian
National Congress (INC) session. Hence,
statement 3 is correct.

Answer C

e Swami Vivekananda, born on 12th January
1863, was a monk and the chief disciple of
Ramakrishna Paramhansa. Hence, statement 1
is correct.

e Philosophical: He introduced the world to the
Indian philosophies of Vedanta and Yoga.
Hence, statement 2 is correct.

e He gave the four pathways of attaining
moksha (liberation) from the worldly pleasure
and attachment in his books- Raja-yoga,
Karma-yoga, Jnana-yoga and Bhakti-yoga.
Hence, statement 3 is correct.

Answer D

Dr. Rajendra Prasad:

e He was born on 3rd December 1884, in
Zeradei, Siwan, Bihar.

e He was influenced by Gandhi's views on caste
and untouchability and led a simple life.

e He gave up his legal career to join the
independence movement in 1920 and was
imprisoned during the Salt Satyagraha in 1931
and the Quit India movement in 1942.

e He presided over the Bombay session of the
Indian National Congress in 1934 and became
Congress President after Subhash Chandra
Bose's resignation in 1939.

e He was appointed President of the Constituent
Assembly in 1946.

40.

. 3B

T g B Hedram, QuE SR HYa Vg YA
g ¥ el ¥, o1 S g8 U ¥ §a o
7T 17 qro Rrareral § fam ma o1| g9fie, HU=
1981 181 g1

. 3R C

TJeoi A forar B 1 39fere, ®uF 1 98t 81

g ugel IR 1870 # forar Tam U7 3R &1¢ H 1882 H
I TN "3 | wfHd foar T unl g9,
YT 2 TS B

3 Ugell SR 1896 & HRGIT AP B (INC) T
B T T 7| 31 HUT 3 FE B

IR C
W fqdde, fSF®T T 12 SFaRt 1863 1 gafl
o, T iy ok IHW WAgH & g Rw 9
ST, B 1 9E1 B

TRffe: IBM g & dgid iR A & R
<=7 § uRfua s safen, sy 2 9 1
IBA MU gD B IIRE @ R smafad
e (@fa) e BT P IR AN FAC- I0-GNT,
HH-GN, JH-AT 3R HiFT-TIT | STAY, HYT 3 Tet
gl

. 3D

Bl e TG

JTHT T 3 ¥R 1884 &1 fogR & Ram &
EINCER: IR

I8 oIfa SR 3Ry=aar W ieh & fart & guifad &
3R IBIM T raT Siad adid b

I 1920 T WaAar sfigias o mfld g & o
TAT HIE HRER BIS fGar 8k 1931 & H&
JAE 3R 1942 H HRd Ble! el & SR od
|

I 1934 H YR P ST P di 95 B
LT BT 3R 1939 H JHUY 9% a9 & IKIH &
TS B feef s

3I= 1946 B TfAYT JuT BT e Figed fbar ma
Tl
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42. Answer A 42. TR A

William Hawkins visited the court of Jahangir, the
Mughal Emperor, in 1609. He was an English
diplomat and representative of the East India
Company, seeking permission to establish trade
relations and a factory at Surat. Hence, statement
1 is not correct.

. Answer D

Tukaram (17th century AD, Maharashtra) : He
was also a devotee of Vitthala or Vithoba (god of
Varkari sect). He was famous for his devotional
poetry known as Abhanga and promoted Kirtans.
He was against gender discrimination and the
caste system. Hence, statement 1 is not correct.
Bijak is the best known of the compilations of
Kabir, and as such is the holy scripture for

faferam gife=a = 1609 & Ta@ WHE SBHIR &
AR HT SR 67| T8 TH 3Sh IoHIS 3R 5
3fear Hut &1 Ul o1, o Wa § AUR ddy
3R T HRAMT T B B STHRT AT TET 4T
ST, BY 1 81 eI 8 |

. 3D

THRM (173 et 3, HERTY): d fagar a1 faaten
@REY UG & oadn) & H Had &1 T 1T TS
ot ufdd Ffadr & fog Ui 9 SR Fiad &
¥eaT 3d ¥l 7 At AeuE SR wifd oo &
oo 31 39ferg, Hu= 1 € T8 B

5 HIR b Yepad! & Jod URIG B, 3R 39 @_E
FHAR UY WUSR & SR & forg ufew 3y Bl

followers of the Kabir panth sect. Hence,
statement 2 is not correct.

2T, HUT 2 Tg TR B

44. 3TYB
ST TR (RPR):
WHR vidl F HieR et A, T A Wiser o
WHR HABRT FA 4, ST HFH 3R FIRT 3R
=7 38 & fow iR 2 safie, oy 2 98t 76l
g
YT YRR (R
Rrewer a1 Ao gRT foan Srar o1 39frg, HYF 3
SHERE

45. 3TX D
IEi WY YT & Y 3R Aiferew 3ifeR 3U-
IAfy & sreger & =u A o1 foran| wfee, Sy 1
TR Bl
I fabdipa siemfieRu, s asf & faem
3R @Y Td PR AN § AR $T ReR TH
frar| 3afie, Hu= 2 et B

44. Answer B

District Level (Sarkars):

e Sarkars were districts within provinces,
headed by Faujdars or Sarkar officers,
responsible for law and order, and military
defense. Hence, statement 2 is not correct.

Local Administration (Parganas):

e Parganas were smaller administrative units,
governed by Shiqdars or Nazims. Hence,
statement 3 is not correct.

45. Answer D

e He served as a member of the Constituent
Assembly and Chairman of the Fundamental
Rights Sub-Committee. Hence, statement 1 is
correct.

e He strongly supported  decentralised
industrialization, the development of rural
areas, and employment in small and cottage
industries. Hence, statement 2 is correct.

46. 3TN A

AaH-u-Raa @ifife amal @ faur: wivan
QAHN & Ty Jeef P HRGUT DI @RI BT
7| 3feT, i 1 Tet goferd a1 g

AIH-T-WRIG @ fum): RS wg s gy
G, 39 faurT 3 ol iR fyansi & fow
e gfga emfd wfafafiat & gfawr uem @t
SHfeTe, g 2 9! gaferd g 5

46. Answer A

Diwan-i-Risalat  (Department of Religious
Affairs): Oversaw the implementation of Sharia
law, religious endowments (waqf), and relations
with religious scholars (ulema). Hence, pair 1 is
not correctly matched.

Diwan-i-Khairat (Charity Department):
Established by Firoz Shah Tughlaq, this
department  facilitated charitable activities,
including support for orphans and widows. Hence,
pair 2 is not correctly matched.
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47. 3T B
47. Answer B :

e The Padmanabhapuram Palace in Kerala, Wﬁmu@@r e, off sl 1): Gﬁqf\;—ﬁ
famous for its architecture and mural fet & forg wifg &, w1 Fmfor ] &
paintings, was constructed under the 3 fbar a1 SR ug Gt 9 e fufr
Travancore rulers and remains an iconic ICEIREIES (_*139_69[ P BTH P 1Y YRURSD Hd il i
example of  traditional Kerala-style IRGHAT DT Uh WS IS8R0 &1 gl HESN
architecture, with beautifully preserved murals YT 1 et gl
and woodwork. Hence, statement 1 is correct.

e Kalakkathu Kunchan Nambiar was a noted FHAdhY Had AR Th URig Jaaray &d g
development of Ottamthulll & performing ar e srew e B @ Wt 7 T g
; P 4P ne & fara &1 ¥ o < B 1 3Ufere, Fu 2 wd et

orm in Kerala. Hence, statement 2 is not %I R e i T T Ritk BR )
correct. i IS

e Shah Abdul Latif was a prominent Sindhi poet G BT B, S IR SeAfAE SR
who composed the Risalo, a collection of his [WATE! Hiadrsll $1 e WUT 51 3= Rieh A
spiritual and mystic poetry. He is considered P U A Higdl ¥ J T AT ofldT & 3R 37!
one of the greatest poets of Sindhi literature T 3ot o e FU ¥ udt 3R g |l
and his works are still widely read and ZIRIT HYT 3 9 2|
revered. Hence, statement 3 is correct.

48. Answer B 48. IR B

e Chatuspathis (al.so known as .Tols in Bihar and o T ([FER 3R &0 & A & =0 & 1t o
B.engal) were 1pdeed .promment f:enters for ST %) g # T A 9o e ¥ T ¥e
higher education in  Sanskrit. These DR T f (@7, fved
institutions were especially influential in LS
places like Varanasi (Kasi), Tirhut (Mithila), (AT, AR IPd S R A
Nadia, and Utkala. EEIERISIR]

o The importance of these institutions is o 3 Y BT A 189 WdlA! & GRH N8R
reflective of the traditional education 3R ST H g4 RO & womelt & g2idr
system tha.t flourished in Bihar and 2| TORT HuT 1 TR B
Bengal during the 18th century. Hence, o T Id A BRYT oIk oRd F w™T B
statement 1 is correct. s

e Madrasahs were indeed centers of higher feore S fRian & &= A1 aqr;ﬁ‘::narc{ (319 G
education for the study of Persian and Arabic. PRYT Rie &1 T TR bt oI S, B 2
Azimabad (now Patna) was a renowned center BRE]
for Persian education. Hence, statement 2 is o PN 3R A YHIRG BT 3T 9 =g
correct. . ¥ Rl H fobar ST o1, BREN H A8l SRet

° The (.)lurant dgn:ji .Islagncb. theol(;g);) were GG 3 Ul W ok ZXa enfife fgan @t
primarily studied in Arabic, not Persian. f et
Arabic was the sacred language of the Quran mm HTT < R P %
and the primary language for Islamic religious gl 1 T P 3erT H & forg ol A
scholarship. Scholars of Islamic theology and ST BRI et o | SfeTY, o 3 el T8 &
law had to acquire proficiency in Arabic to
study the Quran. Hence, statement 3 is not
correct.
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49. Answer A 49. TR A

The Blue Water Policy of Francisco De
Almeida (also known as the Cartaz System)
was a maritime policy established by the
Portuguese Empire in the early 16th century.
It was primarily a strategy aimed at
controlling trade routes in the Indian Ocean,
which were crucial for commerce during that
time. Hence, statement 1 is correct.

In 1510, Afonso de Albuquerque, the
Portuguese viceroy, captured Goa from the
Sultan of Bijapur, Adil Shah, after a fierce
battle. Goa became the Portuguese colonial
capital in India, serving as a crucial strategic
and commercial hub for Portugal's empire in
the East, especially for the spice trade. Hence,
statement 2 is not correct.

50. Answer C

The Marathas, Sikhs, and Jats all emerged as
significant regional powers after challenging
the Mughal Empire. The Marathas under
leaders like Shivaji established a powerful
state, the Sikh Empire arose in Punjab, and the
Jats formed an independent kingdom in
Bharatpur under Suraj Mal. Hence, statement
1 is correct.

Kilich Khan, also known as Nizam-ul-Mulk,
founded the state of Hyderabad after defeating
Mubariz Khan in the Battle of Shakr- Kheda
in 1724. He later assumed the title of Nizam-
ul-Mulk and made Hyderabad a powerful
independent state. Hence, statement 2 is
correct.

51. Answer D

The Mansabdari system was designed as an
administrative and military structure where
Mansabdars were granted ranks and jagirs
(land revenue assignments) to maintain troops
on behalf of the emperor. However, this
system did not foster direct or strong personal
bond or loyalty between the emperor and
individual soldiers. Instead, soldiers were
loyal to the Mansabdars, as they depended on
them for pay and privileges. This disconnect
weakened the central authority of the Mughal
emperor. Hence, statement 1 is not correct.

Under the Mansabdari system, the loyalty of
the soldiers was primarily directed toward

R=Ap
—

o WHIRRD It ST B! & arex e (B
FIery Red & 91 ¥ ot SIF1 ofrar 8) 164t
TrdTec! &1 LB B GTTel TTHTT gRT AT
e gggl Hifd 4t g8 g8 ¥ 9 fég "grR
7 IOR 9rT & T e1 F T QT
O R, St 3 Ty ity & forg meayut
| TR, HUT 1 T B

e 1510 B Il GRRRE BT B 3fegdd -
T WIaR G & dIG SIeMgR & goo™ fea
ME ¥ Mal R FHeal R ol Mar URd #
gl shufafre ey &= T s gd #
A & WTHTT & AU U Agayul i
3R IS Fg & ¥9 § H1 Frar oT, faRw
Y Y FYIel AUR $ | 39y, $9= 2 98t
T B

.3 C

TeT, g 3R we Tt Ta Irsg & AT 3
¥ §I¢ gAYyl g fdadl & wu & IHR| Rrarsht
SR Aarstt &A@ o IRIST A U Mfda=iedt T B
R &Y, UoTe & g 9rsg &1 39 gafl 3R
Sel 7 JRoEd & e RAR § TP WA IA
M| SUFTY, HUT 1 T B

fofera @M, o9 AOW-39-eb & A ¥ 1 9
ST ], 3 1724 H THR-WST BT TST8 H GRS @M
B M F TG FEIG AT BT RO Si| a1g
IEH FUH-ST-gek @ SUMY URU B 3R
BRIETE BT TP AfFI=ITCH T T TN F,
HYT 2 T B

. 3D

TOECR! YUell Y Th U= 3R =0 TRl
¥ ®U # feure fHar T o1 S8t q9eeR! &I
JYTe B 3R I VDT HI §1C 3@ F e ¥ iR
SR (fA o sraTsHe) & S o | BT, 39
TuIelt ¥ gHTe 3R g AT & o g ar
HOgd AR S¢7 IT TBIGRT DI IgTal a1 el
TP SO, A AT9EER] & Ufd aweR 3, wife
3 3a MR faRWiYeRl & forg 37 R ik 31 =9
T3 A ITet gUTe & e SHUBR B FHAR HR
T sufm, Sy 1 wEt T8 81 FEeRY Yot &
Ted, YD FT TWIER TBT TU I JUIC & FolT
P FAEER! & Ufd FER gt | saferg, &
2 TE gl
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their Mansabdars rather than the emperor.
Hence, statement 2 is correct.
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52. Answer A

In this system, sellers only receive 80% of
their cash on the day of sale, with the
remaining 20% available the following day.
Hence, statement 1 is not correct.

However, with the introduction of the new
T+0 settlement system, sellers would have
instant access to 100% of their cash on the day
of the transaction, eliminating the need to wait
for the following day for the remaining
amount.

This is the world's fastest stock settlement
system. Hence, statement 2 is correct.

53. Answer A

Strategic Location: The South China Sea is
strategically located, bordered by China and
Taiwan to the north, the Indo-Chinese
peninsula (including Vietnam, Thailand,
Malaysia, and Singapore) to the west,
Indonesia and Brunei to the south, and the
Philippines to the east (referred to as the West
Philippine Sea), Hence, statement 1 is correct.
Approximately 55% of India's trade passes
through the South China Sea and Malacca
Strait. Hence, statement 2 is not correct.

54. Answer A

The Afar Triangle, nestled in the Horn of
Africa, is a geological depression where three
tectonic plates, the Nubian, Somali, and
Arabian plates converge. Hence, both
statements 1 and 2 are not correct.

It is part of the East African Rift system,
which extends from the Afar region down
through eastern Africa. Hence, statement 3 is
correct.

55. Answer D

The movement covered a wide range of
Bengal and Bihar and continued for a long
time.Hence, statement A is not correct.

It was only after a prolonged action that
Warren  Hastings could subdue the
sanyasis.Hence, statement B is not correct.
Equal participation of Hindus and Muslims
characterised the uprisings, sometimes
referred to as the Fakir Rebellion. Majnum
Shah (or Majnu Shah), Chirag Ali, Musa
Shah, Bhawani Pathak, and Debi Chaudhurani
were important leaders.Hence, statement C is
not correct.

52.

53.

IWA
3 ol §, fagedrell & fowt & T It 80%
Tehdl UT gl 8, AW 20% AT & Suarsy it 2
TR, FYF 1 981 T8l 5|

gIdle, s T+0 Jeadc YUTe & LI & WY,
fagparstt &1 ded & a7 3@ 100% Thal dPb
T Ugd urd grft, o 9w i & fow e fam
BT IAVR P B TIIHdT THIW Bl S|

Ig g1 3! WY O Wik Jeadc JuIe 31 S
FHYT 2 TE1 B

TWRA
JUHIfAS RIM: gfemr 99 IR IuMifae w0 9 fRyd
? S ¥ D9 3R dizaH, ufym & yRa-Hi+ uragiy
(gaTm, ugds, AafRm iR RIMR afRq), <fém
H SHRMT 3R g3 3R qd # frefidia (™ ufdydt
fohefitia SR P81 STdT ®) | oIl 8, 39T, U 1
e Bl

YRA P TIHT 55% SAUR R0 S99 IR 3R
AT STasHEHE ¥ g oRdT & | I, HU-
2 gt 1ol 5l

. 3R A

AP H g A T4 AR BYY Ty
3R Wi firerdt 81 URIG, By 1 3R 2 IHT TE
I

I8 df 3Bl eXR YUl &1 R B, ot SR &
T AT 3BT d thell §s o | ST, HYF 3 W1 &

. JWD
3G A STt SR fSBR & U fawqd &7 B deR

fopan SR @a THY I SIRY @71 ST, HU A TEt
T B

Teft BRATS & a1 & IR R IRt & a9 o
PR IHT| 3TMIY, HYF B el el 3

Rl o ggaaH! @t gae urfie’t e &
fadwar off, B H-H it BBk fagie & &u § S
ST 8| AOH Q6 (A1 AT, 1), FoRmT 3refl, 7
M, YIH! UI6d 3R ot e Aga@yul a1 31
TfTY, HY C TE T8l g1
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56. Answer D
e Kuka Movement: The Kuka Movement was
founded in 1840 by Bhagat Jawahar Mal (also
called Sian Saheb) in western Punjab. A major
leader of the movement after him was Baba
Ram Singh. (He founded the Namdhari Sikh

sect.)
e Its basic tenets were abolition of caste and
similar  discriminations among  Sikhs,

56. 3T D
o DI JHGIT: HHI G BT RITAT 1840 H
UigHt ot # HTd SaTeR we (o R dge
Y gl ST B) A B At ITP TIC ek P
TS g Ad1 are1 W Rig A1 @%A amy
R duer &t RO $) 396 g9 Rigid
gl & o9 1fd oIk 3 TR & NeHE & @A
FRAT, T, IR SR =feht garstt & Ja7 &)
galed &1, Sfawidia faag @ 3rHf,

discouraging the consumption o.f meat and ; e E["-lﬁaTE’ IR TReeret @ i § SR
glcohol . and dl.'ugs, perrnls.smn for m g Pt 3 70 TIeiad S o | SWRIT, H2 1
intermarriages, widow remarriage, and ‘ g R
encouraging  women to . step  out of E o datdl Sidiet duh icid s ey § e
seclusion.Hence, statement 1 is not correct. Bu
e Wahabi Movement : The Wahabi Movement 3 ¥ e G{B—qa EAUBSUEN R ALl
was essentially an Islamic revivalist H % GTORUTTTC ST o, Sif F3<t 3RS F Sfege
movement founded by Syed Ahmed of Rai > deld (1703-87) IR foeeht & AR Tefisems Ff
Bareilly who was inspired by the teachings of ” é REEIEERCR ]
Abdul Wahab (1703-87) of Saudi Arabia and ‘ ! o YT 376HG Y XM W UEH guiE @1 et @
Shah Waliullah of Delhi. : 3R T FEAH SR A P MG FT JpIerd
e Syed Ahmed condemned the Western : - Bt O fob QR & JHY & 3R | UT| IIT,
influence on Islam and advocated a return to . " HYA 2 Hﬁﬂ’&ﬁ%l
pure Islam and society as it was in the Arabia | o TNE U urTd Uit U Sref-enfiie wyg o
of the Prophet’s time.Hence, statement 2 is | o= ¥4 4 AARE 9 (Ugd & ) &

not correct.

e The Pagal Panthis : The Pagal Panthi, a semi-
religious group mainly constituting the
Hajong and Garo tribes of Mymensingh
district (earlier in Bengal), was founded by
Karam Shah.

e From 1825 to 1835, the Pagal Panthis refused
to pay rent above a certain limit and attacked
the houses of zamindars. The government
introduced an equitable arrangement to protect
these peasants, but the movement was
violently suppressed.Hence, statement 3 is not
correct.

BTG 3R TRY SSTfaal &1 69 BTl ol, Pt
RTGAT HIH E = 1 ATl 1825 I 1835 TP,
T Uil A T Afa S A SWam= A I
TPR PR fear 3R IHieRl & W W gHAT
a1 WPHR A 7 foum! & Wen & oW s
AT IT R PI, A 3ficie Bl
fege wu ¥ a1 faur man| 9T, By 3 el
T e
57. 3TX A
31y urw 4fr Aot B} gt B wHA-gaH T3
Uit &7 IoId TXHRUT B | 3TfT, oy 1 Tl B

g &) TR arelt Pier fBrasd & e aifiieaw
41 1,000 F 2,000 fHeHieR B 1 TfRMT, HUT 2 e
T ]I

57. Answer A
e Agni Prime is a nuclear-capable new-
generation advanced variant of the Agni class
of missiles. Hence, statement 1 is correct.
e It is a two-stage canister missile with a
maximum range of 1,000 to 2,000 km. Hence,
statement 2 is not correct.
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58. Answer C 58. 31X C
° YOter YGriﬁable Paper Audit Trail (VYPAT) diex IRkfhuga TwR SiifSe T (VVPAT) Saaci-d
is an 1nfiepend.ent system attached with the A A= ¥ IS v W@ et 2 S gaerarait
Electronic V(?tlng Machlpes that allows the B\ 78 Id B B G{Ti'ﬁlﬁ[ 302 R 3T are
voters to verify that their votes are cast as .
intended. Hence, statement 1 is correct. TH T & SFIAR SR gl SUITE, HUT 1 Wl
e In 2013, the Conduct of Elections Rules, 1961 el
were amended to allow for a printer with a 2013 T, g1 f99, 1961 & SR I EVM ¥ Ts
drop box to be attached to the EVM. Hence, ST g ara fliex &t 3rafd o & forg F=nfd
statement 2 is correct. far TaT AT 31 HYE 2 TR
59. Answer A m g 50 I A
o The .Chapekar .brothers,. . Damo@ar and é AH HSJ,G-ﬁ, e 3R AF 3 » 5, 1897
ﬁalkrlshna, .assassmated British officials W.C. ‘ E &I H@f TERTE e i S"ﬂ?ﬂ. ¥g ok
and and Lieutenant Ayerst on June 22, 1897, - X = amae E i
in Pune, Maharashtra, marking a significant N é‘l < E_ gt ' A
moment in India's struggle for independence. H 0 T o U W &1 1 fafed foan| fen &1 7
This act of violence was one of the first s P 1857 & fagg & 91 YRA & 3 U1 & Ugd
instances of militant nationalism in India u ? IS0 & I TS AT
following the 1857 Revolt. 9 I g ffew Oar & ufy omeiw @ O <t R
e The assassination was driven by resentment ‘ ¢ =0 Tﬁ # U RIATIER @ G P SR @i
towards  British  authority, particularly £ EIET e O
regarding Rand's rtole as the plague = 2 ST i ﬂ . ) '
commissioner during a devastating plague o P 1 Fel Te ¢ 1 HEAAre SR A 1909 F HRe
outbreak in Pune. Hence, statement 1 is not I PRI F AHIRE HoH-agall Bl gl B G|
correct. s 3Ty, YT 3 I8l TRl gl
e Madanlal Dhingra assassinated the India
office bureaucrat Curzon-Wyllie in 1909. . 3B
Hence, statement 3 is not correct. e fad® & o fdd® 3 30T 1916 & 3T
HRA B ¥ N I RO B faes |
60. Answer B R TE e, e
e Tilak’s League: Tilak set up his Indian Home sl vedl SW 0 do ﬁﬁ
Rule League in April 1916. Tilak held his first Gl kS W o &1 AT 4l , P
Home Rule meeting at Belgaum. Poona was (REEEK
the headquarters of his league. Hence, o Y B T T §¥c F RydeR 1916 # Ha™
statement 1 is not correct. (3 ﬁﬂ'st) T 3O SRed YR 8F & o
e Besant’s League: Annie Besant set up her B UG BT 3R AV URG @I TR gied) &
All-India Home Rule League in September wg FHR |
1916 in Madras (now Chennai) and covered = o o .
the rest of India (including Bombay city). g ¢ Wﬁ ZﬁOO Qﬁ'. e I i ;1% W@ i
o It had 200 branches, was loosely ‘ £ a8 U ¥ Hied ‘%ﬁ IR ifet
organised as compared to Tilak’s league -ﬁj( b TS Ifed A1 3RS &b 3, et
and had George Arundale as the 3 o1 &t sy, aifear o Wt IARaE} SR
organising secretary. Besides Arundale, H ‘; R fbar a1 7| 39T, U 2 TET B
the main work was done by B.W. Wadia S o 1920 F Tith A sf@w urRdT B9 = o7 FY
and C.P. Ramaswamy Aiyar. Hence, u £ e WHR Y SR TTET $T 110 STAB
statement 2 is correct. 3 Nz
e In 1920, Gandhi accepted the presidentship of ‘ < SHT DR ﬁTITI L U T F R
the All India Home Rule League and changed § T e QT@Z[ IO o = ) | A,
the organisation’s name to Swarajya Sabha. Hg HYT 3 TR 3
Within a year, however, the league joined the |
Indian National Congress. Hence, statement 3
is correct.
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61. Answer A 61. 3TR A

e India adopted the strategy of Import
Substitution Industrialization (ISI) in the
1950s. Hence, statement 1 is correct.

e From the Second Five-Year Plan, there was a
determined thrust towards the substitution of
basic and capital goods industries. Hence,
statement 2 is correct.

e The primary goal of ISI was not to increase
export earnings, but to reduce imports by
producing domestically. The chief objective
was to build a self-reliant economy. Hence,
statement 3 is not correct.

62. Answer B

e Around 68% of the population falls between
the ages of 15 and 64, and 26% falls within
the 10-24 age group, making India one of the
youngest countries globally.

o Rising formal employment is beneficial
and helps hamess the demographic
dividend. Hence, statement 1 1is not
correct.

o Low participation of women in the
workforce restricts productive utilization
of the working-age population. Hence,
statement 2 is correct.

© A mismatch in skills leads to
unemployability even when jobs exist,
hindering dividend realization. Hence,
statement 3 is correct.

o Increased public investment in education
and health is essential to enabling the
demographic dividend. Hence, statement
4 is not correct.

63. Answer C

Eighth Plan (1992 - 97)

e The eighth plan was postponed by two years
because of political uncertainty at the Centre.

e Worsening Balance of Payment position,
rising debt burden, widening budget deficits,
recession in industry and inflation were the
key issues during the launch of the plan.

e The plan undertook drastic policy measures to
combat the bad economic situation and to
undertake an annual growth of 5.6% through
introduction of fiscal & economic reforms

|
)

YR 9 1950 & T¥FH H AW UfdRITH
SENMBIRTT  (3MSTF3MS) B JHIG AR
SR, FYF 1 81 5

fada deadffa e ¥, goE iR Yo axg
I & UfaRITa 3t fo=n & U T SR fear mm)
SR, FYF 2 981 5

ETHATE 1 Uity @ed fafa S s et o,
dfcsh TR MG PR AT HH BT UT| G-
e AMWR srfogawn &1 Ao B A

2T, HUT 3 T TR B

. 3B

o TTHT 68% 3METCT 15 Y 64 I BT Y & AT T,
3R 26% 10-24 Mg & & R 8, Ford yRd
3 TR R TEY gaT I H W T 97 T3

o JUER® IR H I wreHe 7 IR
SRS ATHIRT BT Gl B H AGGE Hall
213U, HY 1 It T B

o TRgd ¥ AiRamss &1 HH YNGR HHBST
3G B AEIGT & IAGH ITANT B Ulclaiferd
H B 1 3TfE, HUT 2 T B

o BT H AT b BRUT b1 A e of fufa &
ft RISt &t fRufq Tt gt 8, o amuiwr
iRy & Srer oMt B1 9N, U 3 I B
SRS ATHIT &1 e B & g e
3R ey # grdue 3w § 9 smawas B
ST, HY 4 W1 el o

. 3R C

3TSdl TS (1992 - 97)

o Iz U IoHIfaE YT & HRUT 3MEat g
B I & fore wiffra o e mam

o TN & Al P GRM YT G Bt farrsdl
3R YR T e, 3|

o 3 IoHT H WRE SMfdes fRUfY & e & forg
PR Hifara Ium feu U qur gy ot
fdt. RRTET @ F Agd H IeRieRu Ifea
ASTHTS 3R 31 Rt & A1 § 5.6% B
it gfs g 1 =

including liberalisation under the Prime
Minister Shri P V Narasimha Rao.
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64. Answer B

Labour Force Participation Rate (LFPR):
LFPR is defined as the percentage of persons
in the labour force (i.e. working or seeking or
available for work) in the population. Hence,
statement 2 is correct.

Worker Population Ratio (WPR): WPR is
defined as the percentage of employed persons
in the population. Hence, statement 3 is
correct.

Unemployment Rate (UR): UR is defined as
the percentage of persons unemployed among
the persons in the labour force. Hence,
statement 1 is not correct.

65. Answer B

India had introduced the equalisation levy in
2016 to tax digital advertising revenues earned
by foreign companies that do not have a
physical presence in India. Hence, statement 1
is correct.

In 2020, the scope of the Equalisation Levy
was expanded with a 2 per cent tax on revenue
generated by foreign e-commerce platforms
from Indian users. This was applied to digital
marketplaces, cloud services, and online
transactions involving foreign sellers. Hence,
statement 2 is correct.

However, the levy was not applied to
companies with a permanent establishment in
India or to individuals making payments for
personal use. Hence, statement 3 is not
correct.

The Indian government has removed the 6 per
cent  equalisation levy on  online
advertisements starting April 1, 2025. Hence,
statement 4 is correct.

66. Answer D

The Incremental Capital Output Ratio (ICOR)
indicates how much extra capital is needed to
produce one additional unit of output. Hence,
statement II is correct.

In other words, it is calculated by dividing the
percentage of investment in GDP by the
percentage change in GDP.

A lower ICOR means that the economy is
using capital more efficiently, as less
investment is required to boost production,
while a higher ICOR suggests less efficiency
in generating output. Hence, statement I is not
correct.

64.

65.

66.

I B

9T g YFTGRT &R (LFPR): LFPR @I SHET H 91
T (@ BTH B dTal I HTH DI TR B aral T
P & fore Iuas) H Afgaal & Ui & =9 o
oRRuTiT foar T 81 9oy, U 2 It B

STl ST SIUTd (WPR): WPR &1 SeReT |
PHIRG Afgaal & Ufazd & U § gRYIT foar
T 31 39T, Y 3 el B

RIVRI &R @GIR): AR B 97 §d | A
Tiaqdl § ¥ SRIVAR AfGqdl & Uiad & ©g d
R fpar ST B | 39feie, vy 1 98t T8t 81

IWB

HRd 3 2016 ¥ faceft duftal grr eifSia faftea
IO oG R HR T & T SHARoRA ddt
g 31 f, RSFe yRa § Hifde IuRfa 78 B
TR, HU 1981 5

2020 H, YR IwNHdaiel ¥ fesh $-emd
WEHHl gRT IAT oG R 2 Ul &R & Y
SHAROI Td! BT GRRT de/T 74T 4Tl 39 f3fea
Ahewy, Fa3s arsht 3R faceh fagwarsi ¥ 93
HATEA T WR AN foar T o7 | S9fay, 9 2
B

gIalifop, T8 Qdt HRd § Rirh fas arelt sufay ar
G TN & T YITaH = aTal ATl IR
TN TeT &t Y, BYF 3 WEl el 71 HRA PR
J 1 30, 2025 § 3fHars gt W 6 ufawd
%msﬁmﬁaﬁw%m%lm,mq4ﬂ'ﬁ

|

IWRD

gfe=ia dolt Iame $umd (ICOR) I8 gxifdT § f
IdTe &I T 3falkad PR T IAET B &
W%%ﬁsﬁﬁﬂﬁq?ﬁaﬁs{mw%l 3 HUF
Il G5t g

TR ! H, sq@t o S & v & ufawa
P! SiEidt & ufowd uRads @ fauifog & ot
S 81 PH MSHTSNIAR BT Aaos ¢ [ 3rforaw
Uolt &1 3ifie HRIadr ¥ IWINT IR @ ©, FiD
I DI FgIal ¢ & A HH A DI Ma=gdHdT
Bl 8, a3 3SR ITed 30T B4 H
DY &l BT JTd T & | I, HYUT | Tt el ¢
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67. Answer A 67. 3TR A

e In case a commodity is provided free to the
public by the Government, then the
consumer’s opportunity cost of choosing a
specific product in place of other available
options is passed over from the commodity
receiver to the taxpayer. Hence, statement I is
correct.

e If the government provides any commodity
free of cost, the amount paid for the same is
borne by the Government, which in turn relies
on its earnings from tax receipts. Hence,
statement II is correct.

68. Answer C

Counter-cyclical Fiscal Policy Stance :

e A counter-cyclical fiscal policy refers to
strategy by the government to counter boom
or recession through fiscal measures.

e During the boom phase, countercyclical fiscal
policy tries to reduce the aggregate demand by
reducing government expenditure  and
increasing tax levels. Hence, option C is
correct.

69. Answer B

e Its primary objectives include promoting
interoperability to reduce the dominance of
monopolistic e-commerce platforms, lowering
costs for customer acquisition and transaction
processing, and bridging regional and
linguistic gaps to expand market participation.
Hence, statement 1 is correct.

e Additionally, ONDC seeks to empower
consumers by offering diverse product and
service options, competitive pricing through
discounts, and enhanced choices. Hence,
statement 2 is correct.

e Notably, ONDC fosters openness and
interoperability, enabling sellers to operate
across multiple platforms rather than
mandating exclusivity. Hence, statement 3 is
not correct.

g WPHR GRT ST B BIs A% :ed Uy
FRIS ST B, Y 3T Iuasy fabed! =M WR fopeht
ARy I & g7 B IuHIAr B AR AN
T UEHd ¥ PG B AR & St gl
TYRIT, HU | T8 81 Ut WHR Big avg F:Yeh
UM IRl 8, a1 I AT YTdH BT T8 IR WHR
ERT 984 &I Ot §, S Sad H B IR & oot
3 W R et ¥ 3R, e 11 T B

. 3WRC

ufd-Tep g IS i 3@

ufd-Tplg IopEg Hfd WER gRI ISwN
JUR & TEH W Aol AT TGl BT DA PR B
U Y Feffd Bl B

aol & R F IRME, UfG-TIHT IS A
PR T DI HH BB 3R PR P TR DI IGHT
Fd T B HH B Bl DY BT 31 3IRAT,
e c TE B

. 3B

b UNe Iexdl W USIUeRAE Sy
WewH & U@ B HH B & (oY SfaR-Tara o
FQIaT 1, WEHh UG 3R AT UGB &
fore anTa 7 AT 3R IOk § HifieRt &1 fawR
PR & e &g 3R HIWTE 3idR Y Ure-T iy g
3T, HY= 1 el B

39 3ffaiad, ONDC fafdy Iarg iR Jar fawey,
Bc & wegw I ufawdf gea AuRor ok sgaR
I ed U™ HPb ITUHITS BT G FHT ATedT
81 39T, YT 2 51 3

% U ¥, ONDC FAuA SR SfR-TA B
FRA P T By WHH R HH H1 H geH
I ST R 1 31 HUT 3 I el

|
)
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70. Answer A 70. 3TXA
e The Consumer Price Index (CPI) measures WWH@W (CPI) 2012 T YR TN AT
changes in consumer prices over time using a 5T A R Jareii F g AHd H1 ST
representative basket of goods and services, O T90 B WY gudie |gat § qiad @
with 2012 as the base year. Hence, statement 1 !
is not correct. TG & | ST, FU 1 Wl Tl 7|
e It is published monthly by the National I8 QiRAD! 3R BRHH HRIT-ag HATI (MoSPI)
Statistical Office (NSO) under the Ministry of & dd AP wiferd! st (NSO) gRT HiRis
Statistics and Program Implementation FU Y UHIRIG fordT S1dT 21 SafeT, HU 2 el Tl
(MoSPI). Hence, statement 2 is not correct. =
e CPI serves to monitor price stability, adjust = 2 g AR
dearness allowance, and assess living costs, CPI Y @t qgnﬁ W Bl
purchasing power, and inflation. Hence, B 3R S WG, Y e 3R W G2l
statement 3 is correct. 3THTH B Bl B Bl 5| 3 Y 3 gl o
71. Answer C 71. 3 C
e An ARC is a special type of financial ARC T faQY YR &1 fodig i1 § Sl df 3R
institution that buys non—perf(')rm'lng‘ agsets i wrelil @ R-Fomfed oRwuf@l (NPA)
(NPAs) from banks and financial institutions el ¥ ok B 1 sfa yRfd @ @
and attempts to recover the debts or associated
securities by itself. Hence, statement 1 is a{[aﬁmmm‘cﬁ%l SHeTY, HU 1 Tel B
correct. TSHRYT B AR RRFGH AR - 11 (1998) GRT
e The concept of ARCs was introduced by the 9w 3t 18 off, e aRumeey faxfig enfiaal &
?Iariﬁlmhaglbfcilmmlttee; g R((1:998),dlead1rﬁg gfayfasor SR gAfHATr qur ufayfa & vad=
0 fhe cstablishment of ARCS under fhe SifFraH, 2002 (SARFAESI $fiFEH, 2002) ¥ ded
Securitisation and Reconstruction of Financial
Assets and Enforcement of Security Interest TR 3 E"iﬂ e, B 2 Wel §1 T8
Act, 2002 (SARFAESI Act, 2002). Hence, SARFAES| SffaH, 2002 % Tgd B Rl & 3R
statement 2 is correct. RBI gRT SR ﬁ'—‘l’l’[—ﬁf‘&lﬁ DT YT hdl %I éﬂﬁﬂ'{
e It operates under the SARFAESI Act, 2002, HYT3 I gl
and follows guidelines issued by the RBI.
Hence, statement 3 is correct. 72 OB
o JAEA U TSI WG ST (PLI) TISHT Bt
7o AnswerB . Bl o R gmar @ aer % fre ot
e The Production Linked Incentive Scheme >
(PLI) scheme was conceived to scale up g O, W I S W SR
domestic manufacturing capability, o +ft o T a1l
accompanied by higher import substitution o TR 2020 H L= Pt TS 39 ST A = ERGiE|
and employment generation. I 1 dAferd foar:
° %auntclzief[ihm Ma(rlcht2.020, the scheme initially O THeEd 3R dug ged RAfH
argeted three industries: S
o Mobile and allied Component © qd Hce R
Manufacturing O fafdem Iuau|
o Electrical Component Manufacturing and o WG H U 14 &A d% der faar Nl sHfm,
o Medical Devices. $YT 1 T8 2
° Ltatter, it tvx{ag extendted to 14 sectors. Hence, . tﬁQFTGﬂB: o &, msﬁ; fesft O Hufrl
statement 1 is correct. Ry PR
e In the PLI scheme, both Domestic and Foreign Eb-T W\,ﬁ . & for fardta forerd
companies receive financial rewards for g, S Ui a8 d% I IoRd & iR &
manufacturing in India, based on a percentage 3MYR TR Bl 81 SHfT, o 2 e a1 5| faw
of their revenue over up to five years. Hence, Y W18 DI 0T giaRid ol & MR W
statement 2 is not correct. P ST 2 1 STOTT, HY 3 Tal gl
e The incentives given, are calculated on the
basis of incremental sales. Hence, statement 3
is correct.
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73. Answer D 73. 3T D

The Economic Union is a common market
where  member  countries  coordinate
macroeconomic and exchange rate policies.
Hence, statement 1 is correct.

A Common Market is a customs union where
the movement of factors of production is
relatively free amongst member countries.
Hence, statement 2 is correct.

Custom Union is a free-trade agreement in
which members apply a common external
tariff (CET) schedule to imports from non-
members. Hence, statement 3 is correct.

e Tg TH T1E SOR 8, ST I IR AU
ffer iR faftmg X Hfadt &1 wrag Hxa
3R, YT 1 9 B

TS §IOR T ST Yoo T B, o8 T I B
S IdGH & HRDI DI A6l HU&THT Gad
il ¢ 1 ST, HU= 2 T11 &

AT Yoo §Y TH Hod AUR IS ©, o
e R-Yed § A & o te Imm agd
gﬁcﬁ(;ﬁéﬂ)&aa?ﬁaﬂlaﬂﬁ%l 3fd: HYT 3 I

|

74. 3 C
74 AnSWGr C :ra' T ﬁ Gra'm m m qrfh’m
e The Jawaharlal Nehru Port Authority (JNPA) HQ'&F

in Navi Mumbai has become India’s first
100% landlord port, with all berths operated
under the PPP model.

Since its commissioning on May 26, 1989, the
port has transformed from a bulk cargo
terminal to the country’s leading container
port and is ranked 26th among the world’s top
100 container ports, connecting to over 200
global ports.

JNPA currently operates five container
terminals: Nhava Sheva Free Port Terminals
(NSFT), Nhava Sheva International Container
Terminal (NSICT), Gateway Terminals India
Pvt. Ltd. (GTIPL), Nhava Sheva International
Gateway Terminal (NSIGT), and Bharat
Mumbai Container Terminals Private Limited
(BMCT).

Additionally, it is developing a satellite port at
Vadhvan and dry ports at Jalna and Wardha to
boost industrialization in the hinterland.

75. Answer B

Its primary objectives include promoting
interoperability to reduce the dominance of
monopolistic e-commerce platforms, lowering
costs for customer acquisition and transaction
processing, and bridging regional and
linguistic gaps to expand market participation.
Hence, statement 1 is correct.

Additionally, ONDC seeks to empower
consumers by offering diverse product and
service options, competitive pricing through
discounts, and enhanced choices. Hence,
statement 2 is correct.

Notably, ONDC fosters openness and

(JNPA) HRd &1 Ugell 100% HEITH! §E18 & -1
2, R ot 9¢f ppp Hfed & ded Fammerd gid &
26 T, 1989 B ST A 8H & dIG 3, §&x8 UdH
o DI oA J o & 3TN He-R §emg o
god 1 ® 3R g & i 100 HeR sl
263 R W 8, S 200 ¥ 31 Ay sl
ST B SN gdAE & U heR efial B
ToIeq HRal & /T a1 W O i ad
(@IUHUHEY, BET a7 FeATEA HeAR efHd
(ETTTEHId), Ted <ffiTe gfgan ugae fufies
ciidemEdive), |@ar a1 FexwHd Ted effiTa
(TTTH3ESeY) 3R HRd g SR iy urgde
fafics @uEdd) | 3% sifaikad, 98 9ua & T&
Jodrze Ui 3R ST 3R guf o 18 9 Ry
IR QT § B SigE sArd! B SMEHR0 B
el fear ST |

. 3B

o 3ITF UG I H USIUPRAE! S-BIAT
Qeh & IY@ B HH P P A4 HcR-
TETe ! SeTaT 1, TTeH UG 3R Te
TR & oI aFTd &8 BT 3R SR H
YFTeRt BT fIWR o34 & foIT a3 iRy
3R I TTeT A 8 1 39O, B 1 T B

o 3P Sffafked, oNDC fafdy Iame SR Jar
faered, ge & Aregd § ufawudf gea Fufor sik
JeR faped Uam e IuHFrsil B I
ST 9161 3 | SHIAY, HUF 2 el 5

e JIWET ®U J, ONDC Faud 3R 3fRR-
Tarad &1 deral odl §, o fagsarsi &
fafRar & SifFar] e & IO B3 Wew™!
TR HTH B T el S9191 ST 8 | ST, HU=

|
)

3 98! 1o 5l

interoperability, enabling sellers to operate
across multiple platforms rather than
mandating exclusivity. Hence, statement 3 is
not correct.
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76. Answer B
India-Middle East-Europe Economic Corridor
(IMEC) :
e It was signed at the G20 Summit in New

Delhi, in September 2023. Hence, statement 1
is not correct.

IMEC aims to create a comprehensive
transportation network, comprising rail, road,
and sea routes, connecting India, the Middle
East, and Europe. Hence, statement 2 is
correct.

India, the US, Saudi Arabia, UAE, the
European Union, Italy, France, and Germany
are the signatories of IMEC. Hence, statement
3 is correct.

77. Answer B

NCRB was set up function as a repository of
information on crime and criminals to assist
the investigators in linking the crime to the
perpetrators based on the recommendations of
the Tandon Committee (1977-1981), National
Police Commission (1977-1981) and the
Ministry of Home Affairs (MHA) Taskforce
(1985). Hence, statement 1 is correct.

It is part of the MHA and is headquartered in
New Delhi. Hence, statement 2 is not correct.
It also acts as a “national warehouse” for the
fingerprint records of Indian and foreign
criminals, and assists in locating interstate
criminals through fingerprint search. Hence,
statement 3 is correct.

78. Answer B

The Inter Tropical Convergence Zone (ITCZ)
is a low pressure zone located at the equator
where trade winds converge, and so, it is a
zone where air tends to ascend.Hence,
statement 1 is not correct.

In July, the ITCZ is located around 20°N-
25°N latitudes (over the Gangetic plain),
sometimes called the monsoon trough. This
monsoon trough encourages the development
of thermal low over north and northwest India.
Hence, statement 2 is correct.

In winter, the ITCZ moves southward, and so
the reversal of winds from northeast to south
and southwest, takes place. They are called
northeast monsoons. Hence, statement 3 is
correct.

76. 3TN B

YRA-A Qa-JR1Y M1 TRERT (IMEC):

29 R Rder 2023 # 78 fieht # G20 R
T H gXIER b e 9| 3y, oy 1 9gl
T e

IMEC T 35¥9 YRd, 7ed Jd 3R T HI siig
I ¥, TSP MR ! AN ¥ gad U AUSH
IRaeT Aead ST 81 S, HUT 2 TET ]l
URd, ARSI, TSl oRE, JqUs, WU ¥,
god, g SR S IMEC & BTSB! B
3T, HY 3 IS B

77. 3T B

NCRB &l RIUAT 3RTY 3R WY W
SHBR & HeR & &0 § Y 78 o difep de
Afd (1977-1981), IS G AT (1977-
1981) 3R 7€ TAGI (MHA) TRGHI (1985)
P FRIBIREN & YR TR RIS &) SR1Y I
Sed # Sigedisll & IgRIdr & o1 b
ERINEACHIE R

I MHA &1 BRI § SR U Jeag s
foeeh 7 81 3ofery, wy 2 I8 76 B

I8 YR SR fac=h st & fhRftie
Rols & fau ga Mem & wu # ff ot
A B IR fRfic @ & weg
AR ORI HT gdl I H e
Hd 81 3TfIE, HUF 3 T 81

78. TR B

R TiUehd FH-aod 9F (1ITCZ) YT 3@ W
fRyq ue Y <aTa arer & & wiel e gard
firach €, ok 3ufie, U8 T TH1 &4 § el gl
IR B 3R ST 2 13TMIT, HU 1 TE TS B
S T ITCZ 20°N-25°N Sf&ifelf (hm & Bam
®) & IO T gt g, 8 s
ARG T ot F-T ST §1 I8 WY T SR
3R IR-UBH YRd # yHd @ & I &
UicTfed Bl | SR, HUF 2 981 5
TiE # TCz aféror Y 8k gear 8, 3R gafie
ITR-Yd ¥ GfR0r 3R fEmor-ufdm &t ok garsit
T W F&d ol 31 3% STR-Ydl YA Pl
ST 8 | 3Y1OTY, U 3 I8! B
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79. Answer A
e The jet stream is a very fast-blowing air

79. 3WR A
o U ¥ FIWI agHEd (9 ¥ 18 fHh) # §ga

current system in the upper atmosphere (9 to
18 km). Hence, statement 1 is correct.
The southwest monsoon coming into India is

AT S8 aTell A YRT Il §1 39T, Y 1
B
URd # M dran  cRo-ufddt  aegd

related to the tropical easterly jet stream. It
blows between 80 N to 350 N. Hence,
statement 2 is not correct.

Suisiestiy gdf Sic ¥ ¥ Teifdd g1 a8 80 N
350 N & S Sl 81 3TMY, HU 2 Tt Tel
o

o WW ARG  deRHE AN
Iunwrsfedthy uftnft Se W @ Y&fta 31 g8

e The northeast monsoon (winter monsoon) is
related to the subtropical westerly jet stream.
It blows between 200 and 350 latitudes in both

. ) ST et § 200 & 350 e P w8 B
hemispheres. Hence, statement 3 is not .
3gfae, HY 3 I8 Tl B
correct.
80. 3TR B
80. Answer B TR $ SR &

o TE TH AP UhIHP IR AT ¢ S g &
ey ¥ IR F 7Y FRaT §, diE¥eT o W
THHU IR ¥ Ugd ofid H UM Rl g
SIIT, HYT 1 G B

o THI Wlew A el a”RY &1 Afepg Hd
3R 38 qdheror fawat & Soiae TP Ugdl Ihd
Qe Aot faelia fam aferg, wu= 2 wd
2

o TATAR o Il db HIs HHAT A 7 3 &
§1G, 2014 T WHO 3 YRd &1 Uiferdl Gad O
e uT| gufere, U 3 el A 5

|
About Polio: H
e It is a highly infectious viral disease that ”
enters the body through the mouth,
multiplying in the intestine before invading
the nervous system. Hence, statement 1 is :
correct.
e Jonas Salk developed the first successful polio

vaccine by inactivating the poliovirus and | %=
injecting it into test subjects. Hence, statement
2 is correct.

e India was declared polio-free by the WHO in
2014, following three consecutive years with
no reported cases. Hence, statement 3 is not

81.
correct.

IR B

Efsfew e U @ s S fem aren 9@
el ted Sfgfew & = o ST St 8, S
JaTER IO HeM @ Afedl 81 3afeiy, B 1 Jgt
g

e Y. w9 Afeal @t mufie were el ue-
TR F TFIR S 2 IR g e Al
FTY IHHI R St 8, & U HY ey & =g A
ST ST § | SEfeTT, Sy 2 TEt B

P uferey: oig Afear ot fewmet I smoem
gt fBdt st ar srawre § Sisd 8 o 59 ufawy
B BT Hed §| ST, HYUF 3 F81 T8 &

81. Answer B
e Dendritic Pattern: The drainage pattern
resembling the branches of a tree is known as
“dendritic,” the examples of which are the
rivers of the northern plain. Hence, statement
1 is correct.

e Trellis Pattern: When the primary tributaries
of rivers flow parallel to each other and
secondary tributaries join them at right angles,
the pattern is known as ‘trellis’. Hence,
statement 2 is correct.

e Centripetal Pattern: When the rivers discharge
their waters from all directions in a lake or
depression, the pattern is known as
‘centripetal’. Hence, statement 3 is not
correct.
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82. Answer B

RACE IAS

e Subsidence of the western side of the
Peninsula during the early Tertiary period
caused its submergence beneath the sea. This
event disrupted the symmetrical flow of rivers
on either side of the original watershed.
Hence, statement 1 is correct.

e The upheaval of the Himalayas caused the
northern part of the Peninsular block to
undergo subsidence, leading to trough
faulting. Rivers like the Narmada and Tapi
flow through these trough faults, filling the
cracks with detrital material, which is why
these rivers lack significant alluvial and
deltaic deposits. Hence, statement 2 is correct.

e The slight tilting of the Peninsular block from
northwest to southeast during the same period
gave the drainage system its orientation
towards the Bay of Bengal. Hence, statement
3 is not correct.

83. Answer A

The Kaveri rises in Brahmagiri hills (Western
Ghats) of Kogadu district in Karnataka. Hence,
statement 1 is correct.

Its main tributaries are Amravati, Bhavani,
Hemavati and Kabini. Its basin drains parts of
Karnataka, Kerala and Tamil Nadu. Hence,
statement 2 is not correct.

The river Kaveri makes the second biggest
waterfall in India, known as Shivasamudram Falls.
Hence, statement 3 is not correct.

84. Answer A

e The air is an integral part of the earth’s mass
and 99% of the total mass of the atmosphere is
confined to the height of 32 km from the
earth’s surface. Hence, statement 1 is correct.

e Similarly, carbon dioxide and water vapour
are found only up to 90 km from the surface
of the earth. Hence, statement 2 is not correct.

e Ozone is another important component of the
atmosphere found between 10 and 50 km
above the earth’s surface and acts as a filter
and absorbs the ultraviolet rays radiating from
the sun and prevents them from reaching the
surface of the earth. Hence, statement 3 is not
correct.

o URME TS HIA & GRIF kg & i
YN & 699 & DR U8 I & A9 g& T
S Y1 A Hd SdgUl &4 & Gl 3R Afedl &
T UdTe & S1ied R fean 39y, &Y 1
SEE

o U F IYA-YUT & HRU UGG Al
F I U H Y= 8, o T H v I
B Tl AT SR dTdt o AfeEr 39 T e
BIHR gl 5, Forad ¥R A ¥ HR ST ©, et
HRU § & 37 At & mgagyf Jarg ok Seer
TG Pt HH |1 3T, HUF 2 Tl B

o U oAl F ERA IWR-UA I féror-gd &t
3R UEgIdy il & Wi o A
R gone &1 S Ft TSl B R A
TR fea| sufo, F 3 98 T 8

83. JTXA

o PR Fled S BTG N F TR ysiIfed)
@fdef gre) & Pead g1 safe, u= 1 98 3|

o IUB TH WERS Al SARIEd], Haw,
FHTG! SR B! § | SHPT IRH FAled, Pl
3R IS F $ T BT Suared Ham gl
TfeTE, Y 2 T el B

o FHIAY T URT HT G T FST IRAT FA
2 R Raggen Sauurd & T8 J 1 S
& UMY, B 3 el T8 &

84. 3TN A

g G2t & SoHH BT U AT ST § iR argHed
& A STHM BT 99% Yt B Adg ¥ 32 fordlt o
$dTs d% Wifid 81 3AfY, 3 1 el g

T e, T SRS R ot arw gt
T8 ¥ Had 90 fHH Y gt a6 UL 91d g1 R,
FYF 2 Il Tl B

3 IgHEd HT Th 3R He@yUl gedh g off gt
P ag ¥ 10 ¥ 50 &t W urn Sfrar § 3R wH
fheex & ®U 8 &1 vl § AR T I e ara
RIS {0l Y Sa=ifid i § 3R 3= gt
D! Tdg dP UgeH F Al g1 UMY, HYUF 3 Jal
T B
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85. Answer B 85. 3T B

e The troposphere is the lowermost layer of the
atmosphere. Its average height is 13 km and
extends roughly to a height of 8 km near the
poles and about 18 km at the equator. Hence,
statement 1 is correct.

e The thickness of the troposphere is greatest at
the equator because heat is transported to
great heights by strong convectional currents.
Hence, statement 2 is not correct.

e The temperature in the troposphere also
decreases with height. On top of this layer is
what is referred to as tropopause. Hence,
statement 3 is not correct.

86. Answer B

The Equator receives comparatively less
insolation than the tropics. Hence, statement 1 is
not correct.

Generally, at the same latitude the insolation is
more over the continent than over the oceans.
Hence, statement 2 is correct.

87. Answer B

e Conduction takes place when two bodies of
unequal temperature are in contact with one
another, there is a flow of energy from the
warmer to cooler body. Conduction is
important in heating the lower layers of the
Atmosphere. Hence, statement 1 is correct.

e The air in contact with the earth rises
vertically on heating in the form of currents
and further transmits the heat of the
atmosphere. This process of vertical heating
of the atmosphere is known as convection.
Hence, statement 2 is not correct.

e In tropical regions particularly in northern
India during the summer season local winds
called ‘loo’ is the outcome of the advection
process. Hence, statement 3 is not correct.

ghyrsd argHsd @1 god Pl W 81 59
3 S 13 fbeft € SR yal & T T 8 et
3R YA W TR TTHT 18 fHet ot Sars asb Wit
TS B Ul U 1 9 B

&rHHed B Hier Y 3W R I 3 gt §
TP UG oIl § | ST, U 2 Tgt el g

eiyred & aoe ot $a18 & I gear g1 39 WRd
¥ I W AT ST 81 S, B 3 el el
g

. 3B

YA X R SUBIea i &5 @1 ger # e erd
0 Y HH AU U gra1 8| 39fAY, BT 1 Tat
Tl

AWM dR W, JAM e WR HGEY W Jafdy

TERTRI &1 gaT § 3ifie giar 81 o, By 2
SR

. 3B

o IO a9 BIdT & 98 A 99 a1t o fis
TH G & U | gid &, T fis 9 &3 fis &t
3R ol &1 yaTg gl g1 argHed &I et
Wl Y T B Ao AgayYl g1 39,
HUF 1 981 B

o T b U T M arel gaT URISH F T H
TH 81 W FWEER U F FW Iad! § 3R
agred @ T @B M FEiRd @l R
qgHST & SHWER dU- & 39 Ufhal &
Tag & TY H ST o1 2| 3T, B 2 gt
T e

o JUGlcadt & # faviy U ¥ It URd |
TR % A H i gart R o et W
8, ag ufshar &1 gRumM 31 9T, B 3
BREGE

|
)
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88. Answer A

The earth neither warms up nor cools down
despite the huge transfer of heat that takes
place.The earth as a whole does not
accumulate or loose heat. It maintains its
temperature. Hence, statement 1 is correct.

88. 3TN A

Tdl R G I S & 9= RIFIAR &
FTaciE A d T 8t § 3R 7 8 St gt 81 gedt
JIY *U ¥ S B Gfed a1 @it T8 81 T8
3T IO ST T | ST, By 1 gl
H

e This can happen only if the amount of heat o Ugraul & Gdar g o9 W ¥F U § U
received in the form of insolation equals the ST B T ged) g1 Riely Ry ¥ ey
amount lost by the earth through terrestrial ¥ G T T P /R & 3R gt &7 e
radiation. This is termed the heat budget or Wmmﬂ—g’fﬁﬁm%l =gRIT, U 2
heat balance of the earth. Hence, statement 2 e 2 =¥ ofFEl TUT 2 FU 1 I TS
is correct. Further, statement 2 is the correct 3 '
explanation of statement 1. il

89. 3T D
89. Answer D

Nanofertilizers involve material at a nano-scale

ranging between 1-100 nm (nanometers). Hence,
statement 1 is correct.

They are highly efficient types of fertilisers that
provide nutrients like nitrogen to crops through
fine granules. Hence, statement 2 is correct.

This small size allows the nanoparticles to
penetrate plant cells more easily and deliver
nutrients directly to the plant. Hence, statement 3
is not correct.

90. Answer A

Pradhan Mantri Kisan Samman Nidhi (PM-
KISAN) is a Central Sector Scheme to
provide income support to all Small and

1 SRDT H 1-100 TILH (HHR) & 69 &
- R Rl Wi g 81 3uie, S
1981 g

3 SRS & IARF FIA UHR g S TP
FHUN & H1egH ¥ BIA! DI ASSIoH ol Uveh
dcd UM $d 8 | 3T, YT 2 Fel 5

Tg BT BRI B! qelf BT PifRApraft d
31 ST § YR PR 3R Uiveb el Y
Y U TP Uga B AR <1 &1 31 FYUA
3G TRl B

90. TR A

gy fea TE Ay [ dieg-fear) audt
BT R g Y yRe fFam oRkart &)
J@! foviia MaRIHATSM B [ HIA & [T
3T eTIdl UaH a4 & ol T Hard & &1
IS © | 3T, B 1 T8 5

Marginal land holding farmer families to o T Tt T ARl & S H & 4 q—éﬁ
supplement their financial needs. Hence, 3t 3t & forg 2000 ¥ B A A W A
statement 1 is correct. Yo o ST 8 | 39, B 2 el A8l 8|

e The benefit is provided in three equal o 2BIWY D Eakl arg A @1 i REcal
installments of Rs. 2000 each for every 4 ard foedt oft fed ar feam oRkar @ 39
months period into the bank account of all FISH & d8d Hls 1M el el g1 gafag,
eligible beneficiaries. Hence, statement 2 is HY 3 Gel T 3
not correct.

e Any individual or farmer family owning more

than 2 hectares of cultivable land do not get
any benefit under the scheme. Hence,
statement 3 is not correct.
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91. Answer B 91. 3TR B

Preparation of NMP: The pipeline has been
prepared by NITI Aayog in consultation with
infrastructure line ministries. Hence, statement
1 is correct.

Sectors and Asset Classes Covered: The NMP
covers a wide array of sectors including roads,
ports, airports, railways, gas & product
pipelines, power generation and transmission,
mining, telecom, warehousing, and more.

The top 5 sectors include roads (27% of the
total pipeline value) followed by railways
(25%), power (15%), oil & gas pipelines (8%)
and telecom (6%). Hence, statement 2 is not
correct.

Monetization of 'Rights' NOT ‘Ownership":
The government retains primary ownership of
the assets and assets are returned to public
authority after the transaction period ends.
Hence, statement 3 is correct.

Tt ot Ja: R e gR gRard g agA
el & WY ¥ URuaRd daR @t TS gl
SR, FYF 1 81 5

FaR foby MU &7 3R ufkgufy o THuAdt F ge,
3R 31T |fed s &= Bl M fbar T B

W 5 &l F Fscb (Pl U Hed B 27%),
ITF TG I (25%), faorell (15%), a9 3R 19
TIRUAZT (8%) 3R TRETR (6%) AT &1 IRIT,
FHY 2 TG A1 o | W' el dfew BRI BT
B0 WHR URAaRE H1 uufe @iia
PR G g 3R Ae 34afy AT g9 & 18
Ui A UIRBRU Y auy &R d &t 2
3IfeT, HY= 3 el B

92 FWA
BH BT Bl P "TTe- ST " & AW 2024 FT

92. Answer A e o1 Ao RER faar 1, St faeiiies

e Han Kang was awarded the 2024 Nobel Prize G

in Literature for her "intense poetic prose,"
which delves into themes of historical trauma
and the fragility of life. Hence, statement 1 is
correct.

Han Kang is indeed the first South Korean
writer to win the Nobel Prize in Literature,
marking a significant achievement for South
Korea's literary community. Hence, statement
2 is correct.

The Nobel Prize in Literature is awarded by
the Swedish Academy in Stockholm, Sweden,
not by the Nobel Committee in Oslo, Norway,
which is responsible for the Nobel Peace
Prize. Hence, statement 3 is not correct.
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93. Answer A 93. JUX A

e (Cadaver donation involves donating the entire TG GF 8 G & 91 GR TRR DI O DI g HRAT
?qu- to scie?ce afu:; di:ath, pr;ma?ily 1for the et B T ® Y Y U9 IR T IR T
raining of medical professionals in o S Y ¥ B o
understanding human anatomy and surgical ! H &
practices. Hence, statement 1 is correct. TRIEfor & ferg | @ferg, e 1 SR

e Unclaimed bodies can be utilized for medical I & TATCH! fATH, 1959 & dgd @iy al
education under the state’s Anatomy Act, &1 IuT fafean Rer & fow fvar o1 goar §
1 1959 w}?ic}L ztipula.tis. tl;a; ;elativesH must R 78 Trayr 2 R ReAar) 3 48 el ¥ iR
zt:tlcranmetnte2 isocz()yrre:::v‘[lt " o T A PrarT S  FH 2R

e The National Organ & Tissue Transplant X g 7 ST SR S FIRIGU HTST (NOTTO) Jd®
Organization (NOTTO) manages organ STl T AT YR HT YeYT BT 8, Afed T
transplantation from deceased donors but does TWR & e &1 FRE 981 Har g1 g8 e
got ().Versee:r hthe monitgtr)i.rll.g of whollle—bfoiily A AR W AfTHa Fiast F e Ry w®

onations. This responsibility generally falls & :
to the anatomy departments of medical S & P 3 A€
colleges. Hence, statement 3 is not correct. R
94. Answer B AT e Rad 2024 TREOT TS ﬁ%{ CRISICl

e The Living Planet Report 2024 is a biennial PIY (WWF) gRT fgaes g ¢ 3T, U 1
assessment by conservation organisation the e el 2
World ";’l}dllfe Fund ~ (WWF).  Hence, RO & IR, $ad 50 AN (1970-2020) F PR

tat t t t. :
statement 1 is not correc s A 8 ¥ o 3 73% @

e As per the report, there has been a
catastrophic 73% decline in the average size HaTaE fRTAC oS €| $HiT, U 2 el ol
of monitored wildlife populations in just 50
years (1970-2020). Hence, statement 2 is - 3D ]
correct. TP S T (TASRY) S gudie gRI Iyerdt

AW B Sid SR GHeH I B SHGR faar
” f‘ns‘;}lﬁr?\l tional Investigation A (NIA) i wﬁ? ,$%|:T1F|€f%|[% 3 SRR
¢ National Investigation Agenc is .
empowered by the UgAPA to ginve)s/‘[iga‘[e and % il . bl
prosecute cases nationwide. Hence, statement XPIT; AT PR T ESUIREIN o 1At
1 is correct. WHR fHdt mfafafy & Rerr At g, @ 98

e The Act gives the central government MNABIRG Ioux H Th ey USIRG b 3q
complete authority to declare any ac.tivity as BIRS wU J DG B2 THdl 81 TR, HY 2
unlawful. If the government considers an T2
activity unlawful, it can officially declare it so . !
by publishing a notice in the Official Gazette. qudie % qed, o Toldl RUARY & a1e siféiedn
Hence, statement 2 is correct. 180 f= & 3IRIY U SIRIT R Tablt § 3R 3HaTeld

e Under the UAPA, the investigating agency DI Gierd I & d1G 3afd B HF Te-T Sl Jhdl
can file a charge sheet in maximum 180 days 21
after the arrests and. the (.iuratlon can be URT iR R QR TRET W SR @ S
extended further after intimating the court. ) e el '

e Both Indian and foreign nationals can be SERIRCE RN BRI e ?ﬂ’l@Tﬂ &
charged. It will be applicable to the offenders 3RTY WRA & S1eR fobelt faa=i yff W fopam
in the same manner, even if crime is g1l 39fi, HU9 3 et gl
committed on a foreign land, outside India.

Hence, statement 3 is correct.

RACE IAS

ALIGANJ | INDIRA NAGAR | ALAMBAGH, LUCKNOW & KANPUR
WEBSITE :www.raceias.com, i /raceiaslucknow
E-mail ID : www.raceias.2010@gmail.com

)
- d
MOCK TEST ﬂ

EXPLANATIONS

7388114444




96. Answer A 96. TR A

e Establishment: The EAS was established in
2005 as an Association of Southeast Asian
Nations (ASEAN)-led initiative. Hence,
statement 1 is not correct

e The EAS comprises 18 members, the 10
ASEAN  countries (Brunei, Cambodia,
Indonesia, Laos, Malaysia, Myanmar,
Philippines,  Singapore, Thailand, and
Vietnam) and eight dialogue partners
(Australia, China, India, Japan, New Zealand,
Republic of Korea, Russia and the United
States). Hence, statement 2 is not correct

e FEconomically: In 2023, EAS members
represented approximately 53% of the world's
population and accounted for approximately
60% of global GDP. Hence, statement 3 is
correct.

97. Answer C

e Purpose and Goals: It ensures that by 2030 at
least 30% of areas of degraded terrestrial,
inland water, and marine and coastal
ecosystems are under effective restoration.
Hence, statement 1 is correct.

e [t is important to note that this target refers to
collective global efforts rather than a
requirement for each country to allocate 30%
of its land and water areas. Hence, statement 2
is correct.

98. Answer C

NOTTO is the apex organisation set up under the
Directorate General of Health Services, Ministry
of Health and Family Welfare to monitor organ
and tissue transplant services. Hence, statement 1
is correct.

Organ donation and transplantation in India are
regulated under THOTA . Hence, statement 2 is
correct.

R=Ap
—

R $UTH B UG 2005 F <fa0r qd TR
AT & TS (SHTRAM) & AJd el g &b U H
B 77 ot SR, Hu 1 T TET R

EAS § 18 Fa®, 10 MRAM I (s, halfedl,
yEds AR fagdam R e Tale IEERr
RIS, ¥ 3R Tgad Isd 3ARan) wida g
SN, H 2 W1 81 §

e &0 T: 2023 T, EAS TG GFHAT DI T
53% 3MaTe} 1 Ufaffia #vad & 3R e Ioa
T MG BT ATHT 60% 5w &1 39, Ho 3
B

. 3R C

32T 3R 1eT: T8 YT Bar § b 2030 9% HA
I 30% &fvr wiefly, sfadsiia oa ofik T« qur
I aRfRfaet dF murdt el & erefia g
3R, YT 1 9L B

g & TG Heaqul ¢ % I8 a8 Udd o gRI
Ot Yy 3R O &F HT 30% SMafed HA B
TaFEHdl & I AHfed dfd T &I T
HRAT ¢ | ST, HYT 2 T 3|

. 3R C

NOTTO 31T 3R SHde TR Jaraft Ht fARr
A & U Wy Y91 HRIFRTa, WA 3R
URAR el Hag & ded a2 e g
3T, HY 1 981 B

YRd H [T T 3R UARMUU THOTA & ded
fafraftd €1 sufee, Hu= 2 98t 3
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99. Answer C

100.

Global public debt is expected to reach 93%
of global GDP in 2024, and to approach 100%
by 2030. Hence, statement 1 is not correct.
The IMF introduced a "debt-at-risk" method
to Dbetter assess uncertainties in debt
projections, estimating that global public debt
could surge to 115% of GDP by 2026 in a
worst-case scenario. Hence, statement 2 is not
correct.

Implying that high debt levels in major
countries could raise the volatility of
sovereign yields and debt risks in other
countries. Hence, statement 3 is correct.

Answer A

Uttar Pradesh has the Ilargest share of
madrasas in the country, with 11,621
recognised and 2,907  unrecognized
institutions, representing 60% of India's total
madrasas. Hence, statement 1 is not correct.
Madrasa Darse Nizami: These operate as
public charitable institutions and are not
required to adhere to the state school
education curriculum. Hence, statement 2 is
not correct.

Madrasa Darse Aliya: These are affiliated
with state madrasa education boards, such as
the Uttar Pradesh Board of Madrasa
Education. Hence, statement 3 is correct.
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